C:h Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 43+2= 2) 59+9=
- 1.
2.
3.
3 94+2= 4) 59+7 = 4
5.
6.
7.
5) 5+2 = 6) 20+8=
8.
9.
10.
) 21+9= 8) 68+2=
— —_— 11.
12.
9) 78+2= 10) 50+2 =
11) 22:9= 12) 74+2 =
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Dividing Whole Numbers Name. Answer Key
Solve each problem. Answers
1) 43+2= 21r1 2) 59+9= 615 2171
- 1.

2 6r5

) 47
3) 94+2= 47 4 59-7= 813 4, 8r3

5 28

6. 214

7. 213
5 56+2= 28 6) 20:8= 214

8 34

9 39

10, 25
) 21+9= 2713 8 68+2= 34 " 274

12, 37
9 78+2=_ 39 10) 50+2=_ 25
11) 22-9= 214 12) 74+2= 37
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